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����
� ��������� 
�
����
C S1 ��
 �� 
�?������ ��
�� ����	��
�
� 
� �� 	�������
���  ���G��
��� �
 ����	��
�
� 
�
�� 	�������
��� ���
������

C S2 ��
 �� 
�?������ ��
�� ����	��
�
� 
� �� 	�������
��� 
��!����� �
 ����	��
�
� 
�
�� 	�������
��� ��
�
��!������

C S3 ��
 �� 
�?������ ��
�� ����	��
�
� 
� �� 	�������
��� ���������� 
���
� �
 ����	��
�
�

� �� 	�������
��� ���������� !��� ��

������� �����



���������	 
����� �� ����� 
���� ������� ��	 
������ 
��	������	

���� �� ��� 
� ����7�� ���	�7
����
 	��������8 "�� ��
 �� "�� ���� ����� ������
��
6��"��. 	�����
8 �� ���
�� "��

S2
0 = S2

1 + S2
2 + S2

3

S1 = A2
x − A2

y

S2 = 2AxAy cos φ

S3 = 2AxAy sin φ <����=

,�	��
��
8 �� ��
 
�� ��� �F �� ����
 	�� 	������� 
� 
�A��� �� 	�������
���8 ���8 	��
�(��	��8 �� 
�	 ���!� ��
�� �� 	�������
���  ���G��
��� �
 ���
����� ��
8 �� ����� ��
	��
��8 ����
����� ���� 	��
�"�����
8 �� 	��
 ����� ��� ��
��
��� �F ��� 	��
�� 
� ����
�
��
 ���� 	��������8 �
 
����� �� ��6��
� 
� ����
� /� 
�A��
 ����� �� 
�!�� 
� 	�������
���
	�� :

p =

√
S2

1 + S2
2 + S2

3

S0
<����=

$� 	��� ��
�������
 ��
 "�� 
��
� �����
��� ��������� �� 
����	��� 
� %�H�� ���"��
����� ��� 	����7
��� 
� 0
�I��� ����� �� 	��
 ��	�����
�� ���
�
 
� 	�������
��� 
��� ���
�	 7��8 �		���� �	 7�� 
� ��������8 
��
 ��� 
���� �(�� ���
 ��� 
���� 
������� 	����7
���8

��� �� ��� �F ��� 	����7
��� ���
 ���������� 	�� S0�

S1 S2

S3 Polarisation circulaire droite

Polarisation
horizontale Polarisation � 45°

���� ���: 0	 7�� 
� ��������

������� �����
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�
�
�� ��
��	����

��� �		����� �����
�����

����� �
� �� ��
��	��


���� ���: ,���
���
���

� ������
��

I

K

Q

P

i1

i2

n1

n2

H

Onde 
incidente

Onde réfractée

$� ��� 
� ������
�� 
���� �� 
����
��� 
� ���
��� 
���
� ���� 
� 	����!� . 
������ ���
��
��%���� 1��� 	��
 �� 
����
��� %��������
 !����
��"�����
 <���� A!��� ���= �
 
������
�!������
 
� 	�����	� 
� +����
8 	��
����
 "�� �� ����7�� ��	���
� �� � ���� �� 	���
����
� 1��� ������
 :

n1 sin(i1) = n2 sin(i2). <���=

,�

� %������ ��
 . �����!��� 
� �� ����
���
��� 
� ������
�� : ���� �(	���� �� %��
 "�� ���
	��6��
���� 
� k1 �
 k2 ��� �� 	��� 
� ����
��%��� ���
 �!����� $� ����
���
��� 
� ��5���
�������( ���� 
� 	����!� 
��� ������ 
���
��� n1 . �� ������ 
���
��� n2 	��
 �� %����

� %�H�� 	������
 !����
��"��8 �� ������
 �� ��
7�� 
� �� A!��� ���� �� ������ 
�
	���
 
�����
���� I 
� ��5�� �������(8 �� 
���� 
��( �������8 ���� 
� ��5�� n18 ����
��

� ��5�� n2� $� 	���
 H ��
 �� 	��6��
��� 
� 	���
 
���
�����
��� 
� ��5�� ����
��
 �
 
�
	������ ������ ��� �� 	��� 
�����
����� $� 
��
���� IH ��	�����
� n1 sin i18 ����
 
��� ��
"���
�
� ���������8 H 
��
 ����� B
�� ����� �� 	��6��
��� 
� 	���
 
���
�����
��� 
� ��5��
����!���
 �
 
� 
��(�7�� ������� ,�

� 	��	���
� 	����
 
� 
����� �� ��5�� ����!���
�
$� 
����� � �
� ����
���
 
��� �� ��� 
��� ������ ���
��	�8 �F �� ������ 
� ����
��� ��

�	��
 	�� 
� �� 
����
��� 
� 	��	�!�
���� ,�	��
��
8 �� ��
 
��6���� ������� 
��� �� ���

#
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����� �� ����� 
���� ������� ��	 
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��	������	

!������� $� A!��� ���
�� �!������
 ��� ��
�� 	��	���
�� 
�� ��5��� �������( : ��� 	����

���
� ���
 
��!��
� . �� ���%��� 
�� ��
����� @��� 
����
������ ��

� 	��	���
� 
��� ��
���
� 
� ������

����� ���� ��
��� �� 
�	���� ��
 ����

�


,����
����� ����
����
 �� ��� 
��� ������ �����
��	�8 �F ����
��� �	
�"�� 
�	��
 
� ��

����
��� 
� 	��	�!�
���� $� ����
���
��� 
� ������
�� ��
 
��6���� �������8 ��	��
��
8

��� �� ���8 ���� ������ ���� "���� �� 	���� �� 	 ����7�� �����"����� . �� ���� 
�
���	
�"�� �����
��	� : �� 
����� ��%���
���� ,��� ��!��A� "�� �� ��5�� �������( �� ��
	��	�!� 	�� ����� �� 
����
��� 
� ���
��� 
���
�� ;� ��
 	������� 
� 
����
��� ��

�
	��	���
� !����
��"�����
� ,����
����� �� 	��	�!�
��� 
��� ��5�� �������( �
 	������
��� ���%��� 
���
�8 ��
�����
 
�
 ��� ���%��� �F �� 	 ��� 
� ����
� ��
 ����
��
�� /�
���
 "�� �� ���
��� 
���
�8 
����
��� 
� 	��	�!�
��� 
� �� ���%��� 
���
�8 ��
 ��
 �!����
. ��

� ���%���� '��� . 	��
�� 
� ��

� ���%��� �� ��
 ����� 	������� 
� ����
����� ��� ��5���
�������(� 1� �?�
8 �� 	��
 �����
���� "�� ��

� ���%��� ��
 ����
�
��� 
��� ��������

� ������� ������
�����8 
��
�� �� 	 ���8 �
 "�� ��
��%7���
� , �"�� ������ ������
����
���
 ��� 	����
��� "�� �� 	��	�!� 
��� 
��
�� ��� 
����
����8 . ��� ��
���� "�� 
�	��


� ��

� 
����
���� 1� ����������
 �� ��
���� 
� 	��	�!�
��� 
� ����
� �� %���
��� 
�
�� 
����
��� <�� "�� ��
 �� ��
 
� �� ����� J= �� 	��
 
��� 
����� �� ��������
��� 
� ��
���%��� 
���
� ����� 	�� �� ������ . �� 
��	� 
�� $�������		� 
� 
��
�� ��� ���%����
������
����� ����
�
�� �� ��������
��� 
� �� ���%��� 
���
� 
� ��5�� �������( . �����
��


�� 1� ����
������
 !����
��"�����
 
��
�� ��� ���%���� ������
�����8 �� ��
 	������� 
�
����
����� �� 	��	�!�
��� 
�� ��5��� �������( 
��� �� ������ ���
��	� �� �����
��	� <�%
A!��� ���=8 �
 �� 
����
�� 
��� �� 
������ ��� �� 	 ����7�� 
� 
����� ��%���
����

Milieu isotrope Milieu anisotrope : double réfraction

vecteur d'onde

rayon lumineux

���� ���: ,���
���
��� 
� 4�5!����
$� %���
 
���
� ����
��
 ��


����	��� �� ��� �����

� ������� 	���
������8 � �>
���� ���

��
 ��� ��
�

��
 �� ��
���� 
� 	��	�>
!�
���8 
��� �� ��� �����>

��	�8 
�	��
 
� �� 
����>

��� <
���� �� 	���
����=� $�
�������� ���%��� 
���
� ��

��������		� 
� 
��
�� ���
���%���� ������
������ $� 
�>
���
��� 
� ��5�� ��
 
����
	�� �� 	���
 
� 
��!����
��
�� ��� ���%���� ������>

����� �
 �� �������� ���%���

���
��

������� �����



������� ��	 
������ 
��	������	 ���������	 
����� �� ����� 
����

��� ��� ����
���� 
� �� !���

0��
 �� 	��	�!�
��� 
��� %������� �������( 
��� �� ��
����� 
�����
��"�� <�� ������
������
=� ,� ������ ����8 
��� �� ��� !������8 �����
��	�8 ����
 . 
��� "�� ��� 	��	���
��
�	
�"��� <��
�����
 ����
��� 
� ��%���
���= ���� 	�� ��� ��
� 
�	��
��
 
� �� 
����
���

� 	��	�!�
��� �
 
� �� 	�������
��� 
� ��

� ��
�� @��� ������ ���� ��� "��8 . ����
�
���"�����
 
�� �"��
���� 
� '�()��� 
��� �� ������ 
�����
��"�� �� ��
 	������� 
� 
������
��� 	��	���
�� !�������� 
� 	��	�!�
��� 
��� �� ������ �����
��	��

����� �
	������
� ����	���

;� 5 � "��
�� �"��
���� 
� '�()��� :

��
E = −∂B
∂t

<'+= 
��D = ρ <'D=

��
H = j +
∂D
∂t

<'�= 
��B = 0 <'Φ=


��
 
��(8 <'+= �
 <'Φ=8 
�����
 ��� 	��	���
�� ��
����7"��� 
� � ��	8 �
 
��(8 <'D=
�
 <'�=8 ������
 �� � ��	8 �� ������ �
 �� ������� /� 	��
 ��� ������
�� ���7�����
8 ��
�������
 
��
 
�����
 ��� ��� ��
�
�����

���
��
�� �� ��!
�� � �
 � ���
 ��� � ��	� ����
��"��� �
 ��!��
�"���� � ��
 ���(>
��
�
��� ��!��
�"��8 
�� . �������
�
��� ��
��
� 
��� �� ������ 	�� �� 	����!� 
� ����
��
;��8 �� �� �����
����� "�� 
�� ������( ��!��
�"��� ��������� 	��� ���"���� B = μH� 1�A�8
� ��
 ���(��
�
��� ����
��"�� "�� 	���
 �� ���	
� �� 	�������
��� ��
��
� 
��� �� ������
	�� �� 	������� 
� � ��	 ��

"
	�����	�	��
 ��� �!
�	��
� �Φ �  �! �	
���
���" �"��
��� 
� ��������
��� 
� K�(
��!��
�"��� 0��� %���� ��
�!���� :


��B = 0 ↔
�
S

B.dS = 0

$� K�( 
� � ��	 ��!��
�"�� . 
������ ��� ���%��� %����� ��
 ���� ��
�����
 
�
8 ��
���(��
� 	�� 
� ������ 	���
����� 
� � ��	 ��!��
�"���
�# � �	!$��� #	�	�	�" �"��
��� "��8 ���� �� %���� ��
�!����8 ��
 . �����!��� 
� 	 �>

���7�� 
���
��
��� :

��
E = −∂B
∂t

↔
∮

C
E.dl = − d

dt

�
S

B.dS

$� �����
��� 
� K�( 
� � . 
������ �� ������
 ��
 . �����!��� 
���� %���� ����
����
���� ��
���! 
� �� ������
�

������� �����



���������	 
����� �� ����� 
���� ������� ��	 
������ 
��	������	

�% � �	!$��� %	���" ����� �� � ��	 ����
��"�� . �� ������� 1� !������ 
��� �� �����
���� 	���
���� ρ = 0� 0��� %���� ��
�!���� �� ����
 :


��D = ρ ↔
�
S

D.dS = Q

�F Q ��
 �� � ��!� . ����
������ 
� �� ���%��� �����
����� ,���
 �� 
 ���7�� 
� D�����
�& � �	!$��� &�����" ,�

� �"��
��� ��
�"�� "���� ������
8 
��
 ����� �� � ��	

��!��
�"�� 
�	��
��
 
� 
��	�8 ��
 ������ 
� � ��	 ��!��
�"��� 0��� �� %���� ��
�>
!���� :

��
H = j +
∂D
∂t

↔
∮

C
H.dl = iS +

�
S

∂D
∂t

.dS

�F C ��
 �� ���
��� %���� �
 iS �� ������
 "�� �� 
�������8 �� ��
����� �� 
 ���7��

���	7��� ���� �� ����� ���� 	���
���� j = 0�

����� ��
 ����� 
��� �����

���� �� ��� 
���� ��
� 	����8 
��
�� ��� %���
���� �����
����� ���
 
� �� %����Aei(ωt−k.r)

	��� ��� 	����
��� ω �
 �� ���
��� 
���
� � 
������ /� 	��
 ����� ���(	����� ��� �"��>

���� 
� '�()��� :

k ∧ E = ωB <'+= k.D = 0 <'D=

k ∧ H = −ωD <'�= k.B = 0 <'Φ=
<���=

����� ������
�
 �� ��

��� ���� ������ �  �� ������ �

;� 5 � � ����
���� 
� 	����!�8 	��� ��� ���	����
�� �������� <@= �
 
��!��
������ <E=
. ����
��%��� ��
�� 
��( ������( 
�� � ��	� ����
��"��� �
 ��!��
�"���� ���� �� ��� �F ��
��5 � �� � ��!�� �� ������
�8 "�� ��
 ����� "�� ���� ��
������ 
��� �� �����8 ����� 	�����

�������� :

ET1 = ET2

DN1 = DN2

HT1 = HT2

BN1 = BN2 <���=

��� "�
� 	���� 
��� �� ������ ��������

����� !�
�����"����� �����	�#��

1� 	��� 
�� �"��
���� 
� '�()���8 �� ���� %��
 %���� 
��  5	�
 7��� ��� �� ����
��� ��
��
� �
 �� �� ����7�� !�������8 
��� �� ������ "������"�� �� �����
7�� 
�� � ��!�� ������

������� �����
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����� �� ����� 
����

�
 
�� � ��!�� �����8 �� ���	��
����
 
� ��� 
����7��� �� 	������� 
��� � ��	 ����
��"��
�
��
 �� "�� �����
����� �� ������� $��"��
��� <'D= ������
 	��� �� � ��	 ����
��"�� :


��E = ρ����� + ρ���.

,���
 ��

� �"��
��� "�� 	����
 
� 
�A���� 
� 
���� ���
� "���� ����A� ���"��
��� 
����� ��
���
��� 	����
��
� �F ������ �		��������
 ��� � ��!�� ������ <������� 
� � ��	=� ,����
���� �����
����� 
�� ������( 
�����
��"���8 ���� 	���
���� ρ����� = 0� ���� �� ��� 
���
������ ���
��	�8 � ��
 ���	�����
 	��	��
������ . �� ���� �� ������ �����
��	� ��������8
�� ��		��� "���� �(��
� ��� ��
���� ������ [ε] 
���� "��

D = ε0[ε]E. <���=

[ε] ��
 �� 
������ 
� 	����

���
� ����
��"��� /� ���
��8 	�� 
�� �����
���
��� ����!�>

�"���8 "�� �� 
������ ��
 %�������
 �5��
��"��8 �� ��
 
��� 
��!����������� �����8 ����
���� 	�������� . 	��
�� 
� ����
����
 
��� �� ���� 	��	�� 
� ������ 
��� ��"����� ��
	��
 ������ :

D = ε0

⎛⎝ εx 0 0
0 εy 0
0 0 εz

⎞⎠E <���=

@��� �� 
���
����� 	�� ��� �� ��� 
�� ������( �����
��	�� �����������8 �F �� 
������ 
� 	��>
��

���
� ��
 ���	��(�8 �� 	�����	� �� �
��
 �� �B�� <���� ��� ������� 	��� ���	��"��� J=�

����� ��	����
�
 	�������
 ��
 �$���


D E

k

S

H

θ

θ

���� ���: �����
���� 
�� � ��	� 	�� ��		��
 ��
���
��� 
���
�

$�� 
�?����
�� "���
�
�� ��	��
��
�� ���
 :
C (D,H,k)8 ��� 
���� ���
���� ���
 �������� . �� 	��	�!�
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